Homework |5 ﬁ’\ ﬂ‘ loBobin g

FVOM:LM,I
(1) .
X(Z) == H(Z) — */H_
\(Z) /"J-é-zf,qL_/..z“2
6 8

L —
\/(Z) “?Z ,YCZ) ‘f"—g)—-znz}/(‘z) = X(Z)

b

B
& iy = — e
I“E"Z'-'-i-—g'z_‘l
_ [
= — -
. ¥ =) (-5 27) T Relz)
* =

o : ..l- _/_
}70)» T 2 2

(3) JMEM - -f-ji/[n-:] + ?l‘y[”"-l -, Z—FIMC'
ya =
rn_??érn—i-*gfu orn
=L (-4 =
et
s N
(4)

AH pf the ):ofes are Jocated insiole the unit tircle
_”Le ystem 1S f‘touéle.




(1)

—
v
——

(W
Sl

J1 )
‘/T}

D
( }'blm):abvt, 2

\/(:,_) . /
Viz) o= 5o =
| | -3 % 1z
5
Yo =2 27" Y + 272 Yy = Xez)
£ . _ =
y{;l/tj _._ij’[n I'] —ryL'Vl 2] = X[nJ
ez & = /_., I Lm )
EE-F R
) 1
-2z (1-227) e e z)
le 4 -
pele z , 2
5 L 59 ==
j[ﬂj-zj[n_’]'#y[m 2] =0 1“'}7’&%&
n
yonl = r
.J” 5wl n=2
A --5-}”‘ + =0
(-4 ")("”-92 0
f=g .8
h

<

Not oJ/ OJD the };o/e/\s are )vcafec] im?ic[e the it 5/‘;’“(/@_

Tle sffe,m is wt  stable



Yizy = & 2 Yiz) 6 272 Yz = X (z)
\jIVLJ hfjwl—)] +éj£h—2] = X LNj

} IM{Z}

> Hiz =
) -5 =z""+2"°
= / —
(1-22z7")C1-3=z") Re{z}
[ 2 3 "
/7() €
z«Flune,

(3) j[VtJ —i‘j[ﬂ'll * éy[m—a.] = p

(in) = r

o

S A A
(-2 r!) () -3p

M= o ., &3

Il
AN

h h

L'.’.A[VI] = Cy 2. i Cy 3

J

Mot all of the poles wre Jented inside the wit circle.

The fjgtem s wnot sﬂa,L/e_





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

